Méalardalens BF
Aprilsilver med Arsméte forst 2011-04-09

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac  Par Poang % Namn MID Klubb
1 5 135 70.31  Goran Svensson - Peter Ekendahl 8022 20419  Smedstadens BK
2 1 123 64.06  Anders Viklund - Ove Skogsberg 9400 4680 Smedstadens BK
3 6 103 53.65  Mats Hollstrém - Tommie Brunzell 654 10257  Arboga BK
4 2 96 50.00  Magnus Persson - Mikael Rydstedt 87044 90657  Arboga BK
5 3 92 47.92 Kjell Rosenqyvist - Kjell Andersson 27425 25544  Strangnas BK Gripen
6 10 91 47.40  Per-Ake Jansson - Catarina Skau 2714 21342  Smedstadens BK
7 9 89 46.35  Lennart Jonasson - Mikael Eliasson 6775 63 Smedstadens BK
8 8 80 41.67 Nils Ahlén - Ingvar Bladini 3946 51787 BK S:t Erik
9 7 76 39.58 Per-Erik Eriksson - Carina Sundén 23457 28164  ABB BK - BK Fyris
10 4 75 39.06  Roger Karlsson - Christer Lorentzon 39790 90687  Smedstadens BK
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
2 4 54V-1 46 50 8000(7 8 3NV-1 ¢9 50 80003 6 2#0= 42 90 8000[4 7 34 N-1 #A -100 8.0 0.0
7 8 24 V+2 ¢6 -170 6.020( 2 4 2vO= &5 -110 5030(9 1 2NO+1 3 -150 6.020| 3 5 4vV= ¢4 -620 4.04.0
3 6 44V= v3 -420 4040(10 5 2v V= &K -110 50302 4 2NO+2 4 -180 4040|9 2 49 O= «J -620 4.04.0
9 1 54V= ¢4 -450 1070(3 6 2vV+l #4 -140 1.070(7 8 3NV= A -600 206.0(10 6 4v V= ¢Q -620 4.0 4.0
10 5 44 V+1 47 -450 10709 1 2¢vO+1 #2 -140 1.07.0/10 5 3NO+1 42 -630 0080|8 1 4vV+1l vJ -650 0.0 8.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
8 1 3NS+3 #2690 80003 5 6NS= Q990 800010 7 64DO-34A800 80001 2 3NN+3 #8490 5.03.0
9 2 3NN= v6 600 6.020(8 1 3NS+1 ¢Q430 6.020(1 2 44 N= #K620 6.020(5 8 3NN+3 T 490 5.03.0
3 5 44 N-1 T -100 20604 7 6vyN-1 v6 -50 20605 8 54DO-24A500 4040|9 3 3NN+3 T 490 5.03.0
4 7 44 N-1 v6 -100 20609 2 6vS-1 ¢Q -50 206.0|9 3 54DO-14A 200 2.06.0|10 7 3NN+3 42 490 5.03.0
10 6 44 N-1 ¢2 -100 206.0(10 6 6vy N-1 &2 -50 206.0| 4 6 54 N-1 &A -100 0080|4 6 6NN-1 «T -50 0.08.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
9 3 46 S= 47130 80005 7 INV= ¢3 -90 701010 8 54V-3 vA150 8000|(5 7 440-1 vK 50 8.00.0
1 2 INN+1 #2120 6.020|10 8 240= ¥6 -90 7010|5 7 3y N= 4K 140 6.020(10 8 3#V+1 &T -130 6.0 2.0
5 8 140-1 #9100 3.050(6 1 2vS-1 #A -100 3.050(2 3 2vN= #8 110 4040|2 3 34 0O+1 vA -170 4.0 4.0
10 7 3vO-1 #9100 3050(9 4 2¢ N-1 ¢v2 -100 3050|6 1 3¥vO-1 T 50 2060|9 4 4vS-2 4K -200 2.06.0
4 6 5¢DS-1vQ -100 0080(2 3 2#V+1 vA -110 0.08.0| 9 4 4¢ O= 7 -130 0080| 6 1 44 0= vA -420 0.08.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poéang
110 44 N+2 #Q680 7010|110 2NDV-4¢5800 7010|110 3NN+1 #J 630 6.020(| 210 44 N+2 v5 480 8.00.0
3 4 44 N+2 ¢J 680 7.010|6 8 44DO-4v7 800 7010(3 4 3NN+1 #J 630 6.020|7 1 44 N= &T 420 4.04.0
6 8 44 N+1 v5 650 4.040|3 4 2NV-6 v4 300 4040(9 5 3NN+1 46 630 6.02.0|8 3 44 N= &A 420 4.040
9 5 44 N= ¥5620 2060|7 2 2vS= #4110 2060(6 8 3NN= ¢K600 206.0|9 6 44 N= 4T 420 4.04.0
7 2 3NN-1 v4 -100 00809 5 3NN-2 T -100 00807 2 INN+3 6 180 0.08.0|4 5 44 N-1 &A -50 0.08.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par  Kontr Ut Res Poéng| Par Kontr Ut Res Poéng| Par Kontr Ut Res Poéng| Par Kontr Ut Res Poéng
9 6 3¥y V-3 4A150 8000|210 INN= 7 90 8000(5 6 2NN+2 6 180 80001 4 3¢ S= «Q110 8.00.0
7 1 3v0-2 ¢4100 60207 1 24V-1 #9 50 6020(9 7 INN+2 3150 6.020|5 6 3vO= &A -140 5.0 3.0
8 3 2NS-1 vK -50 4040(4 5 INS-1 #Q -100 3.050(8 2 INS+1 T 120 404.0|9 7 3¥vO= ¢A -140 5.0 3.0
4 5 4¢ N-2 #J -100 20608 3 2NS-1 «Q -100 3.050|1 4 24 S= 46 110 2060|310 3#4S-3 vQ -300 1.07.0
210 29 O+1 47 -140 0080|9 6 24 V= ¢4 -110 0080|310 14aS= #Q 8 0080|8 2 2NS-3 #«Q -300 1.07.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par  Kontr Ut Res Poéng| Par Kontr Ut Res Poéng| Par Kontr Ut Res Poéng| Par Kontr Ut Res Poéang
1 4 4vV-2 92100 8000|1 3 44S= 44420 6.020| 410 54DN=9vT 750 8000|1 3 44 S+2 ¢7 480 50 3.0
8 2 3NV-1 3 50 5030|410 44 N= #6420 6020(9 8 54N= ¢K 600 6020|410 44 S+2 ¢7 480 5.03.0
9 7 3NV-1 ¢3 50 5030(6 7 44N= ¢A420 6020(1 3 2#4N+3 ¢K 150 404.0|6 7 564 S+1 ¢7 480 5.03.0
5 6 4vV= 45 -420 20609 8 34 N+1 43170 20606 7 3¢ V-1 4K 100 206.0| 9 8 44 S+2 ¢7 480 5.03.0
310 4vyV+1 ¢7 -450 0.080|2 5 34 N= &6 140 00802 5 44 N-3 ¢K -300 0080|2 5 34S+3 ¢7 230 0.08.0
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